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QUESTION 1

Which statement is true about the OpenConfig data model? 

A. It supports YANG 

B. It provides UDP-based transport 

C. It is embedded in all devices that run the Junos OS 

D. It uses MySQL as the default database structure 

Correct Answer: A 

 

QUESTION 2

Which statement is true about VNFs? 

A. VNFs are always physical devices 

B. VNFs are virtual devices 

C. VNFs are only used in service provider clouds 

D. VNFs are only used in data centers 

Correct Answer: B 

 

QUESTION 3

What operates below the virtualization layer in an NFV system? 

A. The NFV management and orchestration components 

B. the virtualized network functions (VNFs) 

C. the compute, storage, and network hardware 

D. the OSS and BSS management systems 

Correct Answer: C 

 

QUESTION 4

Which two statements are true regarding a zero trust network security model? (Choose two) A. It assumes that security
threat management cannot be centralized 

B. It assumes that security threats can originate inside the network 
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C. It assumes that security threats can originate outside of the network 

D. It assumes that security devices cannot detect and prevent network threats 

Correct Answer: BC 

 

QUESTION 5

Which two functional blocks enable NFV? (Choose two) 

A. public cloud API plugin 

B. orchestrator 

C. software container management system 

D. virtualized infrastructure manager 

Correct Answer: BD 
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